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lkekU; funsZ'k%&lkekU; funsZ'k%&lkekU; funsZ'k%&lkekU; funsZ'k%& 1- lHkh iz'u vfuok;Z gSA1- lHkh iz'u vfuok;Z gSA1- lHkh iz'u vfuok;Z gSA1- lHkh iz'u vfuok;Z gSA

2- dSYdqysVj ds iz;ksx dh vuqefr 2- dSYdqysVj ds iz;ksx dh vuqefr 2- dSYdqysVj ds iz;ksx dh vuqefr 2- dSYdqysVj ds iz;ksx dh vuqefr “ ughaughaughaugha”  gSA gSA gSA gSA

General Instruction:- 1. All question are compulsory.

2. Use of calculators is “not” permitted.

funsZ'k&¼1½funsZ'k&¼1½funsZ'k&¼1½funsZ'k&¼1½ bl iz'u i= esa dqy 30 iz'u gS( tks bl iz'u i= esa dqy 30 iz'u gS( tks bl iz'u i= esa dqy 30 iz'u gS( tks bl iz'u i= esa dqy 30 iz'u gS( tks “ ik¡p [k.Mksaik¡p [k.Mksaik¡p [k.Mksaik¡p [k.Mksa”  esa foHkkftr gSA [k.M esa foHkkftr gSA [k.M esa foHkkftr gSA [k.M esa foHkkftr gSA [k.M

vvvv] ] ] ] cccc] ] ] ] llll] ] ] ] nnnn vkSj  vkSj  vkSj  vkSj bbbb A A A A

¼2½¼2½¼2½¼2½ [k.M [k.M [k.M [k.M “vvvv”  esa dqy  esa dqy  esa dqy  esa dqy 10 iz'u10 iz'u10 iz'u10 iz'u gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd “ nks vadksanks vadksanks vadksanks vadksa”  dk gSA dk gSA dk gSA dk gSA

¼3½¼3½¼3½¼3½ [k.M [k.M [k.M [k.M “ cccc”  esa dqy  esa dqy  esa dqy  esa dqy 8 iz'u8 iz'u8 iz'u8 iz'u gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd “ rhu vadksarhu vadksarhu vadksarhu vadksa”  dk gSA dk gSA dk gSA dk gSA

¼4½¼4½¼4½¼4½ [k.M [k.M [k.M [k.M “llll”  esa dqy  esa dqy  esa dqy  esa dqy 6 iz'u6 iz'u6 iz'u6 iz'u gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd “pkj vadksapkj vadksapkj vadksapkj vadksa”  dk gSA dk gSA dk gSA dk gSA

¼5½¼5½¼5½¼5½ [k.M [k.M [k.M [k.M “ nnnn”  esa dqy  esa dqy  esa dqy  esa dqy 4 iz'u4 iz'u4 iz'u4 iz'u gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd “ ik¡p vadksaik¡p vadksaik¡p vadksaik¡p vadksa”  dk gSA dk gSA dk gSA dk gSA

¼6½¼6½¼6½¼6½ [k.M [k.M [k.M [k.M “ bbbb”  esa dqy  esa dqy  esa dqy  esa dqy 2 iz'u2 iz'u2 iz'u2 iz'u gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd  gS( ftuesa ls izR;sd “NS% vadksaNS% vadksaNS% vadksaNS% vadksa”  dk gSA dk gSA dk gSA dk gSA

¼7½¼7½¼7½¼7½ lEiw.kZ iz'u&i= esa fodYi ugha gS( fQj Hkh [k.Mksa c] l] n ,oa b esa 2&2lEiw.kZ iz'u&i= esa fodYi ugha gS( fQj Hkh [k.Mksa c] l] n ,oa b esa 2&2lEiw.kZ iz'u&i= esa fodYi ugha gS( fQj Hkh [k.Mksa c] l] n ,oa b esa 2&2lEiw.kZ iz'u&i= esa fodYi ugha gS( fQj Hkh [k.Mksa c] l] n ,oa b esa 2&2

iz'uksa esa vkUrfjd fodYi gSA ,sls lHkh iz'uksa esa vkidks ,d gh fodYi gyiz'uksa esa vkUrfjd fodYi gSA ,sls lHkh iz'uksa esa vkidks ,d gh fodYi gyiz'uksa esa vkUrfjd fodYi gSA ,sls lHkh iz'uksa esa vkidks ,d gh fodYi gyiz'uksa esa vkUrfjd fodYi gSA ,sls lHkh iz'uksa esa vkidks ,d gh fodYi gy

djuk gSAdjuk gSAdjuk gSAdjuk gSA

Instruction:-

(1) This question paper consists of 30 questions divided in to “five sections”

A, B, C, D and E.

(2) Section “A” comprises of 10 questions of “Two marks” each.

(3) Section “B” comprises of 8 questions of “Three marks” each.

(4) Section “C” comprises of 6 questions of “Four marks ” each.

(5) Section “D” comprises of 4 questions of “Five marks” each.

(6) Section “E” comprises of 2 questions of “Six marks” each.

(7) There is no overall choise; however internal choice has been provided in sections

B, C, D, and E of 2-2 questions. You have to attempt only one of the alternatives

in all such questions.

d{kk%& 10 ohad{kk%& 10 ohad{kk%& 10 ohad{kk%& 10 oha

fofofofo""""k;%& xf.krk;%& xf.krk;%& xf.krk;%& xf.kr
le;%& 3 ?k.Vsle;%& 3 ?k.Vsle;%& 3 ?k.Vsle;%& 3 ?k.Vs
iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100

Class:- 10th

Subject:- MATHEMATICS
Time:- 3 Hours
Maximum Marks :-  100

3
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj
gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i=  (Model Question Paper)
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[k.M[k.M[k.M[k.M    “vvvv”

SECTION “A”

iz'u 1&iz'u 1&iz'u 1&iz'u 1& ;fn ;fn ;fn ;fn 
3
3

x
x

= +
−A  vkSj  vkSj  vkSj  vkSj 

3
3

x
x

= −
+B  gks rks  gks rks  gks rks  gks rks −A B dk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,A

If     
3
3

x
x

= +
−A   and     

3
3

x
x

= −
+B  then find the value of    −A B ----

iz’u 2& ;fn ;fn ;fn ;fn 
5 3 2

10 7 3
x y
x y

=
−
−  gks rks  gks rks  gks rks  gks rks :x y  dk eku Kkr dhft,A dk eku Kkr dhft,A dk eku Kkr dhft,A dk eku Kkr dhft,A

If     
5 3 2

10 7 3
x y
x y

=
−
−   then find the value of :x y ----

iz’u 3&iz’u 3&iz’u 3&iz’u 3& λλλλ  ds fdu ekuksa ds fy, oxZ lehdj.k  ds fdu ekuksa ds fy, oxZ lehdj.k  ds fdu ekuksa ds fy, oxZ lehdj.k  ds fdu ekuksa ds fy, oxZ lehdj.k 2 + 3  +λ = 0x x ds ewy okLrfodds ewy okLrfodds ewy okLrfodds ewy okLrfod

gksaxsAgks axsAgks axsAgks axsA

For what values of λλλλ  the quadratic equation 2 + 3  +λ = 0x x have real

roots.

iz’u 4&iz’u 4&iz’u 4&iz’u 4& Js.kh 20] 18] 16] 14 --------------------- dk dkSu lk in ’kwU; gSAJs.kh 20] 18] 16] 14 --------------------- dk dkSu lk in ’kwU; gSAJs.kh 20] 18] 16] 14 --------------------- dk dkSu lk in ’kwU; gSAJs.kh 20] 18] 16] 14 --------------------- dk dkSu lk in ’kwU; gSA

Which term of the series 20, 18, 16, 14 ....................... is zero.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& ,d o`Rr dh f=T;k ,d o`Rr dh f=T;k ,d o`Rr dh f=T;k ,d o`Rr dh f=T;k 7777 ls-eh- gSA mldh ifjf/k ij 22 ls-eh- yEcs pki  dsUnz ls-eh- gSA mldh ifjf/k ij 22 ls-eh- yEcs pki  dsUnz ls-eh- gSA mldh ifjf/k ij 22 ls-eh- yEcs pki  dsUnz ls-eh- gSA mldh ifjf/k ij 22 ls-eh- yEcs pki  dsUnz

ij fdrus va’k dk dks.k cuk;sxkAij fdrus va’k dk dks.k cuk;sxkAij fdrus va’k dk dks.k cuk;sxkAij fdrus va’k dk dks.k cuk;sxkA

The radius of a circle is 7777 c.m. find the angle at centre in degree when the

arc of length 22 c.m. makes an angle at centre.

iz'u 6&iz'u 6&iz'u 6&iz'u 6& f=dks.kfefr lkj.kh dk iz;ksx fd, fcuk fuEu dk eku Kkr dhft,%f=dks.kfefr lkj.kh dk iz;ksx fd, fcuk fuEu dk eku Kkr dhft,%f=dks.kfefr lkj.kh dk iz;ksx fd, fcuk fuEu dk eku Kkr dhft,%f=dks.kfefr lkj.kh dk iz;ksx fd, fcuk fuEu dk eku Kkr dhft,%
2 2sin sin+  50 40°°°° °°°°

Without using trigonometric tables. find the value of the following
2 2sin sin+  50 40°°°° °°°°

i'u 7&i'u 7&i'u 7&i'u 7& ,d vk;rkdkj dkxt ftldh yEckbZ 44ls-eh- rFkk pkSM+kbZ 15 ls-eh- gS,d vk;rkdkj dkxt ftldh yEckbZ 44ls-eh- rFkk pkSM+kbZ 15 ls-eh- gS,d vk;rkdkj dkxt ftldh yEckbZ 44ls-eh- rFkk pkSM+kbZ 15 ls-eh- gS,d vk;rkdkj dkxt ftldh yEckbZ 44ls-eh- rFkk pkSM+kbZ 15 ls-eh- gS
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mls eksM+dj cuk;s x;s csyu dk oØi`"B Kkr dhft,Amls eksM+dj cuk;s x;s csyu dk oØi`"B Kkr dhft,Amls eksM+dj cuk;s x;s csyu dk oØi`"B Kkr dhft,Amls eksM+dj cuk;s x;s csyu dk oØi`"B Kkr dhft,A

A rectangular paper of length 44c.m. and breadth 15 c.m. is rolled to make

a cylinder, find its curved surface.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& ∆ΑΒC  esa  esa  esa  esa ∠A dk lef}Hkktd dk lef}Hkktd dk lef}Hkktd dk lef}Hkktd AD  gS rFkk  gS rFkk  gS rFkk  gS rFkk BD = 6ls-eh-] ls-eh-] ls-eh-] ls-eh-] DC = 8ls-ehls-ehls-ehls-eh

vkSj vkSj vkSj vkSj AC = 4ls-eh-] rks ls-eh-] rks ls-eh-] rks ls-eh-] rks AB dk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,A

AD is angle bisector of ∠A  in ∆ΑΒC  and BD = 6c.m., DC = 8c.m. and

AC = 4c.m. then find the value of AB ----

iz’u 9&iz’u 9&iz’u 9&iz’u 9& f}vk/kkjh la[;k ¼11001½f}vk/kkjh la[;k ¼11001½f}vk/kkjh la[;k ¼11001½f}vk/kkjh la[;k ¼11001½
2222
 dks nk’kfed iz.kkyh esa ifjofrZr dhft,A dks nk’kfed iz.kkyh esa ifjofrZr dhft,A dks nk’kfed iz.kkyh esa ifjofrZr dhft,A dks nk’kfed iz.kkyh esa ifjofrZr dhft,A

Convert the binary number (11001)2 in to decimal system.

iz'u 10&iz'u 10&iz'u 10&iz'u 10& ,d FkSys esa 4 dkyh rFkk 5 lQsn xsan j[kh x;h gS( ,d lQsn xsan ;n`PN;k,d FkSys esa 4 dkyh rFkk 5 lQsn xsan j[kh x;h gS( ,d lQsn xsan ;n`PN;k,d FkSys esa 4 dkyh rFkk 5 lQsn xsan j[kh x;h gS( ,d lQsn xsan ;n`PN;k,d FkSys esa 4 dkyh rFkk 5 lQsn xsan j[kh x;h gS( ,d lQsn xsan ;n`PN;k

fudykus dh izkf;drk Kkr dhft,Afudykus dh izkf;drk Kkr dhft,Afudykus dh izkf;drk Kkr dhft,Afudykus dh izkf;drk Kkr dhft,A

A bag contains 4 Black and 5 White balls. Find the probability of drawing

one white ball randomly.

[k.M[k.M[k.M[k.M    “ cccc”

SECTION “B”

iz’u 11&iz’u 11&iz’u 11&iz’u 11& ;fn ;fn ;fn ;fn ,α β  oxZlehdj.k  oxZlehdj.k  oxZlehdj.k  oxZlehdj.k 2a b c 0x x+ + =  ds Qy gks rks  ds Qy gks rks  ds Qy gks rks  ds Qy gks rks 2 2α β− −+ dkdkdkdk

eku Kkr dhft,Aeku Kkr dhft,Aeku Kkr dhft,Aeku Kkr dhft,A

If ,α β are roots of the quadratic equation 2a b c 0x x+ + =  then find the

value 2 2α β− −+ 

iz’u 12&iz’u 12&iz’u 12&iz’u 12& pSrU; NRrhlx<+ xzkeh.k cSad esa 03 tqykbZ 2007 dks cpr [kkrk esa 800 :-pSrU; NRrhlx<+ xzkeh.k cSad esa 03 tqykbZ 2007 dks cpr [kkrk esa 800 :-pSrU; NRrhlx<+ xzkeh.k cSad esa 03 tqykbZ 2007 dks cpr [kkrk esa 800 :-pSrU; NRrhlx<+ xzkeh.k cSad esa 03 tqykbZ 2007 dks cpr [kkrk esa 800 :-

tekdj ikl cqd [kksykA 18 tqykbZ 2007 dks 200 :- tek fd;k vkSj psdtekdj ikl cqd [kksykA 18 tqykbZ 2007 dks 200 :- tek fd;k vkSj psdtekdj ikl cqd [kksykA 18 tqykbZ 2007 dks 200 :- tek fd;k vkSj psdtekdj ikl cqd [kksykA 18 tqykbZ 2007 dks 200 :- tek fd;k vkSj psd

}kjk 02 vxLr 2007 dks 300 :- fudky fy;kA 31 vDVwcj 2007 esa ml}kjk 02 vxLr 2007 dks 300 :- fudky fy;kA 31 vDVwcj 2007 esa ml}kjk 02 vxLr 2007 dks 300 :- fudky fy;kA 31 vDVwcj 2007 esa ml}kjk 02 vxLr 2007 dks 300 :- fudky fy;kA 31 vDVwcj 2007 esa ml

jkf’k dks Kkr dhft, ftlesa mls C;kt feysxkAjkf’k dks Kkr dhft, ftlesa mls C;kt feysxkAjkf’k dks Kkr dhft, ftlesa mls C;kt feysxkAjkf’k dks Kkr dhft, ftlesa mls C;kt feysxkA

Chaitanya opened a Saving Bank account in Chhattisgarh Gramin Bank

on 3rd July 2007 with Rs. 800. He deposited Rs. 200 on 18th July 2007,
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withdrew Rs. 300 by cheque on 2nd August 2007. Calculate the principal

on 31st October 2007 in which he will receive interest.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& ;fn fdlh o`Rr dk O;kl dk ,d fljk ¼1] 2½ vkSj dsUnz ¼5] 6½ gS( nwljs;fn fdlh o`Rr dk O;kl dk ,d fljk ¼1] 2½ vkSj dsUnz ¼5] 6½ gS( nwljs;fn fdlh o`Rr dk O;kl dk ,d fljk ¼1] 2½ vkSj dsUnz ¼5] 6½ gS( nwljs;fn fdlh o`Rr dk O;kl dk ,d fljk ¼1] 2½ vkSj dsUnz ¼5] 6½ gS( nwljs

fljs dk funsZ’kkad Kkr dhft,Afljs dk funsZ’kkad Kkr dhft,Afljs dk funsZ’kkad Kkr dhft,Afljs dk funsZ’kkad Kkr dhft,A

If one end of the diameter of a circle is (1, 2) and its centre is (5, 6), then

find the coordinate of the other end.

iz’u 14&iz’u 14&iz’u 14&iz’u 14& fl) dhft, fd fdlh o`Rr ds thok ds e/; fcUnq ls o`Rr ds dsUnz dksfl) dhft, fd fdlh o`Rr ds thok ds e/; fcUnq ls o`Rr ds dsUnz dksfl) dhft, fd fdlh o`Rr ds thok ds e/; fcUnq ls o`Rr ds dsUnz dksfl) dhft, fd fdlh o`Rr ds thok ds e/; fcUnq ls o`Rr ds dsUnz dks

feykus okyk js[kk[k.M thok ij yEc gksrk gSAfeykus okyk js[kk[k.M thok ij yEc gksrk gSAfeykus okyk js[kk[k.M thok ij yEc gksrk gSAfeykus okyk js[kk[k.M thok ij yEc gksrk gSA

Prove that the line joining the midpoint of a chord to the centre of any

circle is perpendicular to the chord.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& PAB ,d o`Rr dh Nsnd js[kk gS tks o`Rr dks fcUnq ,d o`Rr dh Nsnd js[kk gS tks o`Rr dks fcUnq ,d o`Rr dh Nsnd js[kk gS tks o`Rr dks fcUnq ,d o`Rr dh Nsnd js[kk gS tks o`Rr dks fcUnq A vkSj vkSj vkSj vkSj B    ij izfrPNsnij izfrPNsnij izfrPNsnij izfrPNsn

djrh gSA rFkkdjrh gSA rFkkdjrh gSA rFkkdjrh gSA rFkk    PT ,d Li’kZ js[kk[k.M gS] ;fn ,d Li’kZ js[kk[k.M gS] ;fn ,d Li’kZ js[kk[k.M gS] ;fn ,d Li’kZ js[kk[k.M gS] ;fn PB = 9 ls-eh- vkSjls-eh- vkSjls-eh- vkSjls-eh- vkSj    PT = 12

ls-eh- gks rks ls-eh- gks rks ls-eh- gks rks ls-eh- gks rks PA dk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,Adk eku Kkr dhft,A

PAB is a secant line of a circle, which intersect the circle at the points A

and B and PT is tangent line segment. If PB = 9 c.m. and PT = 12 c.m. then

find the length of PA.

iz’u 16&iz’u 16&iz’u 16&iz’u 16& fuEu ckjEckjrk caVu ls ekf/;dk Kkr dhft,AfuEu ckjEckjrk caVu ls ekf/;dk Kkr dhft,AfuEu ckjEckjrk caVu ls ekf/;dk Kkr dhft,AfuEu ckjEckjrk caVu ls ekf/;dk Kkr dhft,A

x: 8 9 11 12 10 13 14

f: 6 10 12 3 7 8 20

Find the median of the following frequency distribution.

x: 8 9 11 12 10 13 14

f: 6 10 12 3 7 8 20

i’u 17&i’u 17&i’u 17&i’u 17& fl) dhft;s fdfl) dhft;s fdfl) dhft;s fdfl) dhft;s fd

2 2s 1 tanec θ θ= +
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Prove that

2 2s 1 tanec θ θ= +

vFkokvFkokvFkokvFkok    (OR)

loZlfedk dks fl) dhft,%loZlfedk dks fl) dhft,%loZlfedk dks fl) dhft,%loZlfedk dks fl) dhft,%

2 2 4 4sin cos sin cosθ θ θ θ− = −

Prove the identity:

2 2 4 4sin cos sin cosθ θ θ θ− = −

iz’u 18&iz’u 18&iz’u 18&iz’u 18& vYxksfjFe dh egRoiw.kZ y{k.kksa dks fyf[k,AvYxksfjFe dh egRoiw.kZ y{k.kksa dks fyf[k,AvYxksfjFe dh egRoiw.kZ y{k.kksa dks fyf[k,AvYxksfjFe dh egRoiw.kZ y{k.kksa dks fyf[k,A

Write the important features of Algorithm.

vFkokvFkokvFkokvFkok    (OR)

fuEu dks ifjHkkffuEu dks ifjHkkffuEu dks ifjHkkffuEu dks ifjHkkf""""kr dhft,%&kr dhft,%&kr dhft,%&kr dhft,%& (1½+1½=3)

(a) fuos’k fuos’k fuos’k fuos’k (b) fuxZe fuxZe fuxZe fuxZe

Define the follwoing:-

(a) Input (b) Output

[k.M[k.M[k.M[k.M    “ llll”
SECTION “C”

iz’u 19&iz’u 19&iz’u 19&iz’u 19& ;fn ;fn ;fn ;fn 
2abx
a b

= +     gks rks fl) dhft, fd&gks rks fl) dhft, fd&gks rks fl) dhft, fd&gks rks fl) dhft, fd&

2x a x b
x a x b

+ ++ =− −

If 
2abx
a b

= +  then prove that

2x a x b
x a x b

+ ++ =− −
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iz’u 20&iz’u 20&iz’u 20&iz’u 20& ;fn ;fn ;fn ;fn 
1 l 1
a b

+ =  rks fl) dhft, fd fcUnq rks fl) dhft, fd fcUnq rks fl) dhft, fd fcUnq rks fl) dhft, fd fcUnq    (a, o); (o, b) vkSj vkSj vkSj vkSj (l, l)    lejs[k gSAlejs[k gSAlejs[k gSAlejs[k gSA

If     
1 l 1
a b

+ =  then prove that the points (a, o); (o, b)  and (l, l) are collinear

iz’u 21&iz’u 21&iz’u 21&iz’u 21& lehdj.k gy dhft,%lehdj.k gy dhft,%lehdj.k gy dhft,%lehdj.k gy dhft,%

cos cos 2
1 sin 1 sin

θ θ
θ =− ++

Solve the equation

cos cos 2
1 sin 1 sin

θ θ
θ =− ++

iz’u 22&iz’u 22&iz’u 22&iz’u 22& ,d yEc f=Hkqth; fizTe dk vk/kkj ,d leckgq f=Hkqt gS ftldk vk;ru,d yEc f=Hkqth; fizTe dk vk/kkj ,d leckgq f=Hkqt gS ftldk vk;ru,d yEc f=Hkqth; fizTe dk vk/kkj ,d leckgq f=Hkqt gS ftldk vk;ru,d yEc f=Hkqth; fizTe dk vk/kkj ,d leckgq f=Hkqt gS ftldk vk;ru

1728 ?ku ls-eh- gSA ;fn bldh Å¡pkbZ 1728 ?ku ls-eh- gSA ;fn bldh Å¡pkbZ 1728 ?ku ls-eh- gSA ;fn bldh Å¡pkbZ 1728 ?ku ls-eh- gSA ;fn bldh Å¡pkbZ 316 ls-eh- gS rks vk/kkj dh Hkqtkls-eh- gS rks vk/kkj dh Hkqtkls-eh- gS rks vk/kkj dh Hkqtkls-eh- gS rks vk/kkj dh Hkqtk

dh yEckbZ Kkr dhft,Adh yEckbZ Kkr dhft,Adh yEckbZ Kkr dhft,Adh yEckbZ Kkr dhft,A

A right triangular prism of equilateral triangular base whose volume is

1728 cubic c.m. If its height is 316  c.m. then find the length of side of

base.

iz'u 23&iz'u 23&iz'u 23&iz'u 23& ;fn ;fn ;fn ;fn 2cos sin .cosθ θ θ+ =  gks rks fl) dhft, fd& gks rks fl) dhft, fd& gks rks fl) dhft, fd& gks rks fl) dhft, fd&

2cos sin .sinθ θ θ− =
If 2cos sin .cosθ θ θ+ =  then

prove that 2cos sin .sinθ θ θ− =

vFkok vFkok vFkok vFkok (OR)

fuEu dk eku Kkr dhft,%fuEu dk eku Kkr dhft,%fuEu dk eku Kkr dhft,%fuEu dk eku Kkr dhft,%
2 2

sin cos
cos sin

cos2   
   
   

+ −20 70
70 20

60
° °° °° °° °

° °° °° °° °
°°°°



102

find the value of the folliowing

2 2
sin cos
cos sin

cos2   
   
   

+ −20 70
70 20

60
° °° °° °° °

° °° °° °° °
°°°°

iz'u 24&iz'u 24&iz'u 24&iz'u 24& ;fn ;fn ;fn ;fn h, C, V    Øe'k% ,d 'kadq dh Å¡pkbZ] oØi`"B rFkk vk;ru gks rks fl)Øe'k% ,d 'kadq dh Å¡pkbZ] oØi`"B rFkk vk;ru gks rks fl)Øe'k% ,d 'kadq dh Å¡pkbZ] oØi`"B rFkk vk;ru gks rks fl)Øe'k% ,d 'kadq dh Å¡pkbZ] oØi`"B rFkk vk;ru gks rks fl)

dhft;sdhft;sdhft;sdhft;s    3 2 2 23  V h C  h 9V 0 - + =π
If h, C, V are height, curved surface and volume of a cone then prove that:

3 2 2 23  V h C  h 9V 0 - + =π

vFkok vFkok vFkok vFkok (OR)

,d 4 ls-eh- O;kl okyk v/kZxksykdkj dk¡p dk isij osV cukuk gS ftlds,d 4 ls-eh- O;kl okyk v/kZxksykdkj dk¡p dk isij osV cukuk gS ftlds,d 4 ls-eh- O;kl okyk v/kZxksykdkj dk¡p dk isij osV cukuk gS ftlds,d 4 ls-eh- O;kl okyk v/kZxksykdkj dk¡p dk isij osV cukuk gS ftlds

vUnj 2 ls-eh- O;kl dk ok;q dk ,d cqycqyk gS] bl isijosV dks cukus esavUnj 2 ls-eh- O;kl dk ok;q dk ,d cqycqyk gS] bl isijosV dks cukus esavUnj 2 ls-eh- O;kl dk ok;q dk ,d cqycqyk gS] bl isijosV dks cukus esavUnj 2 ls-eh- O;kl dk ok;q dk ,d cqycqyk gS] bl isijosV dks cukus esa

iz;qDr inkFkZ dh ek=k Kkr dhft, tcfd dk¡p dk ?kuRo 1xzke@?ku ls-iz;qDr inkFkZ dh ek=k Kkr dhft, tcfd dk¡p dk ?kuRo 1xzke@?ku ls-iz;qDr inkFkZ dh ek=k Kkr dhft, tcfd dk¡p dk ?kuRo 1xzke@?ku ls-iz;qDr inkFkZ dh ek=k Kkr dhft, tcfd dk¡p dk ?kuRo 1xzke@?ku ls-

eh- gksAeh- gksAeh- gksAeh- gksA

A hemispherical paper weight of glass is made with diameter 4 c.m. In

this there is a spherical air bubule of diameter 2 c.m. find the mass of

required material when the density of glass is 1 gm/cm3

[k.M[k.M[k.M[k.M    “ nnnn”

SECTION “D”

iz’u 25&iz’u 25&iz’u 25&iz’u 25& xq.ku[k.M dhft,%xq.ku[k.M dhft,%xq.ku[k.M dhft,%xq.ku[k.M dhft,% 2 2 2 2 2 2   + z + x + y( ) ( ) ( ) 2x y y z z x xyz+ + +
Factorize: 2 2 2 2 2 2   + z + x + y( ) ( ) ( ) 2x y y z z x xyz+ + +

iz’u 26&iz’u 26&iz’u 26&iz’u 26& 1 ls 10 rd dh izkd`r la[;kvksa dk lekUrj ek/;( ef/;dk ,oa cgqyd1 ls 10 rd dh izkd`r la[;kvksa dk lekUrj ek/;( ef/;dk ,oa cgqyd1 ls 10 rd dh izkd`r la[;kvksa dk lekUrj ek/;( ef/;dk ,oa cgqyd1 ls 10 rd dh izkd`r la[;kvksa dk lekUrj ek/;( ef/;dk ,oa cgqyd

Kkr dhft,AKkr dhft,AKkr dhft,AKkr dhft,A (2+2+1=5)

Find the arithmatic mean, median and mode of natural number from

1 to 10. (2+2+1=5)
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iz’u 27&iz’u 27&iz’u 27&iz’u 27& ujs’k dk ekfld osru ¼edku fdjk;k HkRrk NksM+dj ½ 30]000 :i;s gSaA ogujs’k dk ekfld osru ¼edku fdjk;k HkRrk NksM+dj ½ 30]000 :i;s gSaA ogujs’k dk ekfld osru ¼edku fdjk;k HkRrk NksM+dj ½ 30]000 :i;s gSaA ogujs’k dk ekfld osru ¼edku fdjk;k HkRrk NksM+dj ½ 30]000 :i;s gSaA og

Hkfo"; fuf/k esa 4]500 :i;s izfrekg] thouchek izhfe;e izfro"kZ 20]000Hkfo"; fuf/k esa 4]500 :i;s izfrekg] thouchek izhfe;e izfro"kZ 20]000Hkfo"; fuf/k esa 4]500 :i;s izfrekg] thouchek izhfe;e izfro"kZ 20]000Hkfo"; fuf/k esa 4]500 :i;s izfrekg] thouchek izhfe;e izfro"kZ 20]000

:i;s vkSj jk"Vªh; cpr i= esa 20]000 :i;s fuos’k djrk gSA og 15]000:i;s vkSj jk"Vªh; cpr i= esa 20]000 :i;s fuos’k djrk gSA og 15]000:i;s vkSj jk"Vªh; cpr i= esa 20]000 :i;s fuos’k djrk gSA og 15]000:i;s vkSj jk"Vªh; cpr i= esa 20]000 :i;s fuos’k djrk gSA og 15]000

:i;s iz/kkuea=h lgk;rk dks’k ¼100 izfr’kr NwV½ esa rFkk 8]000 :i;s ,d:i;s iz/kkuea=h lgk;rk dks’k ¼100 izfr’kr NwV½ esa rFkk 8]000 :i;s ,d:i;s iz/kkuea=h lgk;rk dks’k ¼100 izfr’kr NwV½ esa rFkk 8]000 :i;s ,d:i;s iz/kkuea=h lgk;rk dks’k ¼100 izfr’kr NwV½ esa rFkk 8]000 :i;s ,d

/kekZFkZ VªLV ¼50 izfr’kr NwV½ esa nku nsrk gSA o"kZ ds 11 ekg esa mlus vius/kekZFkZ VªLV ¼50 izfr’kr NwV½ esa nku nsrk gSA o"kZ ds 11 ekg esa mlus vius/kekZFkZ VªLV ¼50 izfr’kr NwV½ esa nku nsrk gSA o"kZ ds 11 ekg esa mlus vius/kekZFkZ VªLV ¼50 izfr’kr NwV½ esa nku nsrk gSA o"kZ ds 11 ekg esa mlus vius

osru ls 6]150 :- dVokrk gSA o"kZ ds vafre ekg esa ns; vk;dj dh x.kukosru ls 6]150 :- dVokrk gSA o"kZ ds vafre ekg esa ns; vk;dj dh x.kukosru ls 6]150 :- dVokrk gSA o"kZ ds vafre ekg esa ns; vk;dj dh x.kukosru ls 6]150 :- dVokrk gSA o"kZ ds vafre ekg esa ns; vk;dj dh x.kuk

dhft,Adhft,Adhft,Adhft,A

¼v½¼v½¼v½¼v½ vk;dj dh nj gSvk;dj dh nj gSvk;dj dh nj gSvk;dj dh nj gS%%%%

(i) 1,10,000    :- rd:- rd:- rd:- rd ’kwU;’kwU;’kwU;’kwU;

(ii)     1,10,0001 :- ls  :- ls  :- ls  :- ls 1,50,000    :- rd:- rd:- rd:- rd 10 izfr’kr10 izfr’kr10 izfr’kr10 izfr’kr

(iii) 1,50,0001    :- ls:- ls:- ls:- ls    2,50,000 :- rd 20 :- rd 20 :- rd 20 :- rd 20 izfr’krizfr’krizfr’krizfr’kr

(iv) 2,50,0001    :- ls Åij:- ls Åij:- ls Åij:- ls Åij 30 izfr’kr30 izfr’kr30 izfr’kr30 izfr’kr

¼c½¼c½¼c½¼c½ vf/kHkkjvf/kHkkjvf/kHkkjvf/kHkkj %%%%

(i)    dqy vk; dh jkf'k dqy vk; dh jkf'k dqy vk; dh jkf'k dqy vk; dh jkf'k 10,00,000 rd & dksbZ vf/kHkkj ughaA rd & dksbZ vf/kHkkj ughaA rd & dksbZ vf/kHkkj ughaA rd & dksbZ vf/kHkkj ughaA

(ii)     10,00,000 :- ls vf/kd vk; ij & vf/kHkkj 10 izfr'kr :- ls vf/kd vk; ij & vf/kHkkj 10 izfr'kr :- ls vf/kd vk; ij & vf/kHkkj 10 izfr'kr :- ls vf/kd vk; ij & vf/kHkkj 10 izfr'kr

¼l½¼l½¼l½¼l½ 'kSf{kd midj'kSf{kd midj'kSf{kd midj'kSf{kd midj% vk;dj vkSj vf/kHkkj dh jkf'k;ksa ds ;ksx ij 3 izfr'kr dh% vk;dj vkSj vf/kHkkj dh jkf'k;ksa ds ;ksx ij 3 izfr'kr dh% vk;dj vkSj vf/kHkkj dh jkf'k;ksa ds ;ksx ij 3 izfr'kr dh% vk;dj vkSj vf/kHkkj dh jkf'k;ksa ds ;ksx ij 3 izfr'kr dh

nj ls ns; gksxkAnj ls ns; gksxkAnj ls ns; gksxkAnj ls ns; gksxkA

The monthly salary of Naresh (Excluding HRA) is Rs. 30,000. He deposits

Rs. 4,500 permonth in provident fund, Rs. 20,000 yearly premium to L.I.C.

and invest Rs. 20,000 in National Saving Certificate. He donates Rs. 15,000

in Prime Minister relief fund (100% exemption) and Rs. 8,000 to a

charitable trust (50% exemption). He use to deduct Rs. 6150 permonth as

advance income tax for 11 months. calculate the income tax paid by him

in the last month of the year.

(a) Rate of Income taxes:

(i) Up to Rs. 1,10,000 NIL

(ii) From Rs. 1,10,001 to Rs. 1,50,000 10%

(iii) From Rs. 1,50,001 to Rs. 2,50,000 20%

(iv) Above Rs. 2,50,000 30%
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(b) Surcharge:

(i) Up to total income Rs. 10,00,000 surcharge is not imposed

(ii) Total income more than Rs. 10,00,000 surcharge 10%

(c) Educational cess: To be paid at the rate of 3% on income tax and surcharge.

vFkok vFkok vFkok vFkok (OR)

’kkfyuh us 200 :i;s izfrekg dh nj ls 4 o"kZ ds fy, vkorhZ tek [kkrk’kkfyuh us 200 :i;s izfrekg dh nj ls 4 o"kZ ds fy, vkorhZ tek [kkrk’kkfyuh us 200 :i;s izfrekg dh nj ls 4 o"kZ ds fy, vkorhZ tek [kkrk’kkfyuh us 200 :i;s izfrekg dh nj ls 4 o"kZ ds fy, vkorhZ tek [kkrk

[kksyk] ;fn C;kt dh nj [kksyk] ;fn C;kt dh nj [kksyk] ;fn C;kt dh nj [kksyk] ;fn C;kt dh nj 
15
2  izfr’kr okf"kZd gks rks mls 4 o"kksZ a ckn izfr’kr okf"kZd gks rks mls 4 o"kksZ a ckn izfr’kr okf"kZd gks rks mls 4 o"kksZ a ckn izfr’kr okf"kZd gks rks mls 4 o"kksZ a ckn

fdruh jde dh izkfIr gksxhA”fdruh jde dh izkfIr gksxhA”fdruh jde dh izkfIr gksxhA”fdruh jde dh izkfIr gksxhA”

Shalinee opened a recurring deposit accout of Rs. 200 per month for 4

years. If the rate of interest is 
15
2 % per annum then calculate how much

amount will he receive after four years.

iz’u 28&iz’u 28&iz’u 28&iz’u 28& ,d f=Hkqt ,d f=Hkqt ,d f=Hkqt ,d f=Hkqt PQR dh jpuk dhft, tcfd  dh jpuk dhft, tcfd  dh jpuk dhft, tcfd  dh jpuk dhft, tcfd PQ = 4.6 ls-eh-]  ls-eh-]  ls-eh-]  ls-eh-] ∠R = 70°°°° vkSjvkSjvkSjvkSj

'kh"kZ 'kh"kZ 'kh"kZ 'kh"kZ R ls gksdj tkus okyh ekf/;dk 3 ls-eh- gSA jpuk ds in Hkh fyf[k,Als gksdj tkus okyh ekf/;dk 3 ls-eh- gSA jpuk ds in Hkh fyf[k,Als gksdj tkus okyh ekf/;dk 3 ls-eh- gSA jpuk ds in Hkh fyf[k,Als gksdj tkus okyh ekf/;dk 3 ls-eh- gSA jpuk ds in Hkh fyf[k,A

(3+2=5)

Construct a triangle PQR    in which PQ = 4.6    , ∠R = 70°°°°  and the length

of median through the Vertex R is 3 c.m. also write the steps of

construction.

vFkok vFkok vFkok vFkok (OR)

∆ΑΒC  ds ifjo`Rr dh jpuk dhft, tcfd  ds ifjo`Rr dh jpuk dhft, tcfd  ds ifjo`Rr dh jpuk dhft, tcfd  ds ifjo`Rr dh jpuk dhft, tcfd AB = 7 ls-eh-]  ls-eh-]  ls-eh-]  ls-eh-] BC = 6.5
ls-eh- rFkk ls-eh- rFkk ls-eh- rFkk ls-eh- rFkk AC = 7.5 ls-eh- gSA jpuk ds in rFkk ifjo`Rr dh f=T;k ls-eh- gSA jpuk ds in rFkk ifjo`Rr dh f=T;k ls-eh- gSA jpuk ds in rFkk ifjo`Rr dh f=T;k ls-eh- gSA jpuk ds in rFkk ifjo`Rr dh f=T;k

ekidj fyf[k,Aekidj fyf[k,Aekidj fyf[k,Aekidj fyf[k,A (3+1+1=5)

construct the circumcircle of a triangle ABC when AB = 7 c.m., BC = 6.5

c.m. and AC = 7.5 c.m.

Write the steps of construction and also write the length of radius of

circumcircle. (3+1+1=5)
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[k.M[k.M[k.M[k.M    “ bbbb”

SECTION “E”

iz’u 29&iz’u 29&iz’u 29&iz’u 29& rhu lekUrj Jsf.k;ksa esa rhu lekUrj Jsf.k;ksa esa rhu lekUrj Jsf.k;ksa esa rhu lekUrj Jsf.k;ksa esa n inksa dk ;ksxQy Øe'k% inksa dk ;ksxQy Øe'k% inksa dk ;ksxQy Øe'k% inksa dk ;ksxQy Øe'k% S1, S2,  S3 gS( ;fn izR;sdgS( ;fn izR;sdgS( ;fn izR;sdgS( ;fn izR;sd

Js.kh dk izFke in 1 rFkk lokZUrj Øe'k% 1] 2] 3 gks rks fl) dhft,%Js.kh dk izFke in 1 rFkk lokZUrj Øe'k% 1] 2] 3 gks rks fl) dhft,%Js.kh dk izFke in 1 rFkk lokZUrj Øe'k% 1] 2] 3 gks rks fl) dhft,%Js.kh dk izFke in 1 rFkk lokZUrj Øe'k% 1] 2] 3 gks rks fl) dhft,%

1 3
2

S  + S
= S

2

If S1, S2,  S3 be the sum of n terms of three Arithmatic progression and

first term of each and every series be 1 and common difference be 1, 2, 3

respectively:

Then prove that 1 3
2

S  + S
= S

2

vFkok vFkok vFkok vFkok (OR)

,d ;k=h xkM+h dh lkekU; pky eas 5 fd-eh-@?kaVk o`f) dj nsus ij og,d ;k=h xkM+h dh lkekU; pky eas 5 fd-eh-@?kaVk o`f) dj nsus ij og,d ;k=h xkM+h dh lkekU; pky eas 5 fd-eh-@?kaVk o`f) dj nsus ij og,d ;k=h xkM+h dh lkekU; pky eas 5 fd-eh-@?kaVk o`f) dj nsus ij og

300 fd-eh- dh nwjh r; djus esa 2 ?kaVs de le; ysrh gSA rks mldh300 fd-eh- dh nwjh r; djus esa 2 ?kaVs de le; ysrh gSA rks mldh300 fd-eh- dh nwjh r; djus esa 2 ?kaVs de le; ysrh gSA rks mldh300 fd-eh- dh nwjh r; djus esa 2 ?kaVs de le; ysrh gSA rks mldh

lkekU; pky Kkr dhft,AlkekU; pky Kkr dhft,AlkekU; pky Kkr dhft,AlkekU; pky Kkr dhft,A

A passenger train takes two hours less for a journey of 300 k.m. Its speed

is increased by 5 k.m./hr. from usual speed. What is its usual speed?

iz’u 30&iz’u 30&iz’u 30&iz’u 30& fl) dhft, fd o`Rr ds fdlh pki }kjk dsUnz ij cuk dks.k mlh pki }kjkfl) dhft, fd o`Rr ds fdlh pki }kjk dsUnz ij cuk dks.k mlh pki }kjkfl) dhft, fd o`Rr ds fdlh pki }kjk dsUnz ij cuk dks.k mlh pki }kjkfl) dhft, fd o`Rr ds fdlh pki }kjk dsUnz ij cuk dks.k mlh pki }kjk

’kss"k ifjf/k ij cus dks.k dk nqxwuk gksrk gSaA’kss"k ifjf/k ij cus dks.k dk nqxwuk gksrk gSaA’kss"k ifjf/k ij cus dks.k dk nqxwuk gksrk gSaA’kss"k ifjf/k ij cus dks.k dk nqxwuk gksrk gSaA

Prove that the degree measure of an arc of a circle is twice the angle

subtented by it at any point on the alternate segment of the circle with

respect to arc.

vFkok vFkok vFkok vFkok (OR)

FksYl izes; ds dFku dks fyf[k, ,oa mls fl) dhft,AFksYl izes; ds dFku dks fyf[k, ,oa mls fl) dhft,AFksYl izes; ds dFku dks fyf[k, ,oa mls fl) dhft,AFksYl izes; ds dFku dks fyf[k, ,oa mls fl) dhft,A (1+5=6)

State and prove the Thales Theorem. (1+5=6)

&&&&0&&&&


